Year 4 Maths Activity Mat

O

Section 1

Use <, = or > to make
these statements true:

2 4
6 12
1 3
4 16
Section 2

Cathy buys a handbag
for £45.99.

She also buys some
shoes for £55.50.

How much has she spent
altogether?

Section 3 Section 4

9 _ Convert these Roman
10 of 120 = numerals into digits.
— of 160 = CXXV =

Section 5

Two children share 3 apples. What fraction of the
apples does each child have?

Section 6

Using any 3 of the numbers below, write 2 division statements

and 2 multiplication statements.
12 8 9 926

division statements

multiplication statements

Section 7

A pie shop makes pies with

3 different types of pastry
and 12 different fillings.
How many different pie
combinations are sold? Write
your answer as a number
sentence.

Section 8

Using the column method,
complete the calculation:

w**
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Year 4 Maths Activity Mat: 6

Answers

Section 1

Use <, = or > to make
these statements true:

Section 3 Section 4

=0f 120 = | 108

Convert these Roman
numerals into digits.

7 —
L of 160 = | 140

CXXV = 125

2 = 4
6 12
1 3
4 > 16
Section 2

Cathy buys a handbag
for £45.99.

She also buys some
shoes for £55.50.

How much has she spent
altogether?

£101.49

Section 5

Two children share 3 apples. What fraction of the

apples does each child have?

Section 6

Using any 3 of the numbers below, write 2 division statements

and 2 multiplication statements.
12 8 9 926

division statements

multiplication statements

96 - 8 = 12 12x 8 =96
96 +12 =8 8x12 =96
Section 7 Section 8

A pie shop makes pies with

3 different types of pastry
and 12 different fillings.
How many different pie
combinations are sold? Write
your answer as a number
sentence.

3x12 =36

Using the column method,
complete the calculation:

W**
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